QID : 201 - In the following question, select the related word from the given alternatives.

Ampere : Electric current : : Fathom : ?
forforRae qRee # fay 1Y fieed! § F wisfird g 1 g |
iR : R  em ;2

Options:

1) Depth of Water
STl T TERTE

2) Frequency

3) Sound level
@ 'R

4) Work or energy
ik a1 ot

Correct Answer: Depth of Water
STt 9 TERTE

Candidate Answer: Depth of Water

T B TERTS

QID : 202 - In the following question, select the related number from the given alternatives.

AKP : 1121256 : : LNO : ?

FrferRad ure & Ry 0 faeredt § 3 efir e @1 g |
AKP : 1121256 : : LNO : ?

Options:

1) 196125144

2) 144196225

3) 144225196

4) 41521196
Correct Answer: 144196225
Candidate Answer: [ NOT ANSWERED ]

QID : 203 - In the following question, select the related number pair from the given alternatives.

Options:
1)102:9

2)553: 6
3)884:2

4) 999 :2
Correct Answer: 999 : 2
Candidate Answer: 884 : 2

QID : 204 - In the following question, select the odd word from the given alternatives.

forforRae qRee & Ay I fRemedt & & v w1 3 gf~u |
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Options:
1) Baseball
EREIC]

2) Football

Gedrd
3) Hockey
glept

4) Snooker

TR

Correct Answer: Snooker
TR

Candidate Answer: Snooker

TR

QID : 205 - In the following question, select the odd letters from the given alternatives.

frfeRad qre # 3y 70 faeredt & 3 faww arert @1 g |
Options:
1) BOH

2) ERK
3) HUO

4) KXQ
Correct Answer: HUO
Candidate Answer: KXQ

QID : 206 - In the following question, select the odd number from the given alternatives.

frfeRad qre # Ry e faemedt § 3 faww e @Y i |
Options:
1) 145

2) 463
3) 581

4) 651
Correct Answer: 463
Candidate Answer: [ NOT ANSWERED ]

QID : 207 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Clocklipe
2. Cloddier

3. Clodpates
4. Clodpolls
5. Clockwise

frferRas wrsal Y regepter # T dTel A & TR fored |
1. Clocklipe

2. Cloddier

3. Clodpates

4. Clodpolls
5. Clockwise

Options:
1) 15234
2) 23154
3) 24315

4) 51234
Correct Answer: 15234
Candidate Answer: 15234

QID : 208 - In the
efg __eff _ghhe _eff _gggh_h
frfeRad oRe # 31eRi &1 B T1 TE Wielt T IR HRAGR IE- F § T8 31eR IR B IR/ HEM?
efg __eff ghhe _eff _gggh_h
Options:
1) eghhfe
2) ghhhh
3) hegeth
4) hgefhe
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Correct Answer: hegefh
Candidate Answer: [ NOT ANSWERED ]

QID : 209 - In the following question, select the missing number from the given series.

5,13, 40, 104, ?

ffeRad o=e # oy ¢ et § | < 8ich 57 BT |
5,13, 40, 104, ?

Options:

1) 229

2) 239

3) 259

4) 269
Correct Answer: 229
Candidate Answer: [ NOT ANSWERED ]

QID : 210 - The ratio of the present ages

S T 3R T ARTHI ST BT SIIUTST 2 : 1 & TN St aeAT S 61 AT 72 a9 & | 6 Y a1g 37 o1y (N ) e B

Options:
1) 30

2) 48
3) 52

4) 54
Correct Answer: 54
Candidate Answer: 54

QID : 211 - There are five girls - R, S, T, P and Q sitting in a row facing north. T is sitting exactly in the middle of the row. Q is sitting to the immediate right and immediate left of P

and T respectively. S is not sitting at the extreme end. Who is sitting third to the left of R?

ofa @fral - R, S, T, P M1 Q SR 7 oiR T 9o W U A S g2 8 | TR A H 9 g2 | QA PHF RAR AN T TA T IS g 2 | S U & siftm SRR 3t 8

R & T IR TRR oI R i 3 g€ &2
Options:

1)P

2)Q

3)S

HT
Correct Answer: Q
Candidate Answer: T

QID : 212 - In the f

ERADICATE

fRg T urem #, ffeiRad fRaredt § 9 a8 v 9f1e it U TIQ 91 & 31eRT &1 URANT R el a1 S Fehell & |

ERADICATE

Options:

1) AREA

2) CARE

3) DICE

4) TASTE

Correct Answer: TASTE
Candidate Answer: TASTE

QID : 213 - In a certain coded language, 'hit ka tom' is written
written in this code language?

Uk fAfdTee e WS &, 'hit ka tom' @1 'tie the shoes' foTaT STl £, 'ka lo fod' Y 'shoes of leather' foTaT STl & T2 'lo tin lot' @Y 'leather and raxin' foRET ST 8 | 39 s 9T § 'of' &Y b

RBR forar Smg?
Options:

1) fod

2) ka

3) lo or fod

4) tin

Correct Answer: fod

Candidate Answer: fod
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QID : 214 - If "-" means "added to", "+" means "divided by", "+" means "multiplied by", "x" means "subtracted from", then
13+12x9+3-6=7?
Tfe " a7 ool S &, "+ et 1] "M &, "+ by ared o £ 'x" @1 el rHeE” &, A

13+12x9+3-6="7
Options:

1)-117/11

2)117/11

3)-237/12

4) -239/12

Correct Answer: —239/12
Candidate Answer: —237/12

QID:215-1f6 @4 @ 7=101and 2 @ 5 @ 11 = 150, then what is the valueof Ain A @ 8 @ 9 = 289?

AM@4@7=101TM2@5@11=150& NA @8 @ 9 =289 H, A HTAF T &?
Options:

15

2)8

3) 12

4)17

Correct Answer: 12

Candidate Answer: [ NOT ANSWERED |

QID : 216 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

orafea wy 7 Gn o faseur & O wwr &g
(?)F TIH W FH aet =T F g

20 | 72 90 | 110 56 | ?

213]|6 3?4176‘

Options:
1) 112

2) 144
3) 156

4) 186
Correct Answer: 156
Candidate Answer: [ NOT ANSWERED ]

QID: 217 -
How many triangles are there in the given figure?

& 16 st 3 Pt fhager ¥

Options:
1)13

2)14
3)15

4) 16
Correct Answer: 15
Candidate Answer: 13
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QID : 218 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at variance from

comm
Statements:

1. Some banks are private.
II. All private are industry.

Conclusions:

1. Some banks are industry.
II. All banks are industry.

i AT 7T R § B o IR S 918 S HUF OR MR $B fepy 2 U &, ghetifes S e S deat & e 2 et € | it rend og sik O feiRa o i Ry male |
o1y, Ry 710 el & SMUR R IR € |

DY

1. v § Fof € |

11 T4t oot Seir & |

frepd:

1. %6 S Sam E |

11 9t & S & |

Options:

1) Only conclusion (I) follows.

Faet freemd (1) Tt & |

2) Only conclusion (II) follows.

e Frepd (1) & 2 |

3) Neither conclusion (I) nor conclusion (II) follows.
A fored (1) e = & fseed (1) T 2 |

4) Both conclusions follow.

3t & foreepd I8 2 |

Correct Answer: Only conclusion (I) follows.
Faet fred (1) Tt & |

Candidate Answer: Only conclusion (I) follows.

et foeeps (1) e & |

QID: 219 -
From the given options, which figure can be formed
by folding the figure given in the question?

Rreafafg et & @ @ @ 397 3Ehy ua
# & 72 wHY F A TR T ThaT §7

‘ Bl | ®
w
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Options:
1)

2)
1
5
3
3)
6
5
3
4)

5 2

Correct Answer:

1
2

Candidate Answer:

1

3

3
2

QID : 220 - Identify the diagram that best represents the relationship among the given classes.
Animal, Leopard, Lion

T IR Y N ) Ry 7 if 3 i 3 Seled b1 T T AR € |

IR, ¥, ¥R

Options:
1)

Correct Answer:
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Candidate Answer:

QID : 221 -
Which answer figure will complete the pattern in the
guestion figure?

Hid O IR AFS UF WHa & UAwT & g
FHLaM?

*~J

Options:
1)

Correct Answer:

Candidate Answer:
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From the given answer figures, select the one in

which the question figure is hidden/embedded.

& 7% 39T HgAT A ¥ 3@ W FgH o gw
o 3wy 3pld BT &

Options:
1)

_*_

Correct Answer:

=

Candidate Answer:

A
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QID : 223 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

= & uH Wplaar A G HgER dEE H
AIZHRT Ted dUT Wied & d1g a9 g TaT HTpa
s e gem?

Options:
1)

OOOO
o]
o
o0

o0

Correct Answer:

OOO

o

o]
000

Candidate Answer:

o® %

00 OO
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QID : 224 -
If a mirror is placed on the line AB, then which of
the answer figure is the right image of the given
figure?

Ifg e gUur @ AB I@T W I@T S0, daf & T
IO FTpOal # ¥ Bid @ JGfa A e &
e ulafasa gnfr?

A

m

Options:
1)

Correct Answer:

Candidate Answer:

ol
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QID : 225 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘F’ can
be represented by 03, 34, etc., and ‘A’ can be represented by 31, 43, etc.
Similarly, you have to identify the set for the word “RATES”.

TH (G Had UF OEI-HIE NI GRIET T § ol 6 adeut # &
Rl w A T T §) Rwedl # Bu v gemr-uep el & g a9t
grr e aw § Shar fr R Ro e g smegd A ¥ anegp & waEn
o T a0 4 & 7 R, 3R mgEn 5 F9) 3T gy &
U HaW @ Ugel 3O Ufs AR g # waeer dwan gr geitan g
seeRT & faw P @t 03, 34, TS gRT guiaT o @@ § aUr AT A 31,
43, TG gRT GRFET S WhaT ¥ SH e & UM A # QU v g
“RATES” & T Tp @ updiean &1

Matrix-| Matrix-Il
-1 gl
0111234 5|6(7(|8 |9
O0|A|G|R|F|E 5|T|IP|U|S|O
1[F|E|A|G|R 6|S|/O[T|P[U
Z[G[R[F[E[A 7|P[U[S[O[T
J|IE|A|G|R|F 8|0|T|P|U|S
4|R|F|E|A|G 9|U|S|O|T|P

Options:
1) 33, 00, 98, 30, 88

2) 14, 43, 55, 11, 68
3) 21, 24, 86, 42, 56

4) 02, 12, 67, 04, 96
Correct Answer: 02, 12, 67, 04, 96
Candidate Answer: 02, 12, 67, 04, 96

QID : 226 - Courier service comes under which sector?

i JaT {37 &R P ST ST 22
Options:

1) Primary

i

2) Secondary

fefta

3) Tertiary

4) Both Secondary and Tertiary
< don et =t

Correct Answer: Tertiary

Candidate Answer: [ NOT ANSWERED ]

QID : 227 - Which among the following is not a direct tax?

fferRad & | 1 A1 U qReae A e 82
Options:

1) Income tax

KB

2) Wealth tax

Jfufi ax

3) Corporate tax

PHIARET HX

4) None of these

T X IS A

Correct Answer: None of these
T R PIS TE

Candidate Answer: Corporate tax

HART F
QID : 228 - Which of the following is justiciable in nature?

forferRae & § IF ST e wu < =gt @2
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Options:

1) Fundamental Duties

Hiferes weie

2) Directive principles of state policy
53 3 fderss Rigia

3) Fundamental Rights
Hiferes PR

4) None of these
AP T
Correct Answer: Fundamental Rights

Hifern rfdepR

Candidate Answer: Fundamental Rights

wHifere SHferRPR

Staff Selection Commision

QID : 229 - Which of the following Amendments is also known as the 'Mini Constitution' of India?

forfoRad eitermt § X b YRS o1 'oTe] A ot e e 22

Options:

1) 7" Amendment

7 af Jemer

2) 42" Amendment

42 9f e

3) 44 Amendment

44 97 e

4) 74™ Amendment

74 & Jene

Correct Answer: 42" Amendment
42 9f e

Candidate Answer: 42"4 Amendment
42 9f ene

QID : 230 -
Match the following.

IGEGIGECGRC AR CIGRCa G|

Column -1
-
1. Brihadeswara Temple
e AT
2. Dilwara Temple
feeramer #Afex
3. Lingraja Temple
ot #fex
4. Hampi Group Monuments
0t & TR & THE

Options:
1)1-c,2-d,3-a,4-b

2)1-a,2-¢,3-d,4-b
3)1-b,2-d,3-a,4-c¢

4)1-b,2-2a,3-d4-c
Correct Answer: 1-b,2-d,3-a,4-c¢
Candidate Answer: 1 -b,2-d,3-a,4—-c

Column-1li
= |l

Qdisha

e

Tamil Nadu

GICECIE

Kamataka
Heled
Rajasthan
AT

QID : 231 - In which battle was Siraj ud-Daulah defeated by Lord Clive?

TS HeATEd ¥ RITSRIT 1 foh g & &xrar o
Options:

1) Battle of Plassey

IRA BT gg

2) Battle of Buxer

JRR DT I5

3) Battle of Panipat

IO BT g5

4) Battle of Haldighati

Eeae! BT g5
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Correct Answer: Battle of Plassey
IRA BT g5

Candidate Answer: Battle of Plassey

IRA BT Ig

QID : 232 - Alps mountain range is located in which continent?

Yoot gdl S foh Agrgd H Rerd 82
Options:
1) Europe

2) North America
IR R

3) South America
afaror amRet

4) Africa

Correct Answer: Europe

Candidate Answer: Europe

Sl

QID : 233 - What is the full form of ITCZ?

3. A .. F1 SRfera & 82
Options:

1) Inter tropical converter zone
SR IwreHfede qRacies xR

2) Inter tropical convergence zone
pecn .

3) Inter tropical centre zone

SR SUThEH e FHralig &R

4) None of these

T & g T

Correct Answer: Inter tropical convergence zone
TR SUTfedsi SRR &R

Candidate Answer: Inter tropical convergence zone

IR U AR &R

QID : 234 - Which among the following does not have a cell wall?

FerferRa & 3 forr # PifRret ffRT &1 8xit 87
Options:
1) Euglena

2) Paramecium
RifaRem
3) Gonyaulax

4) Mycoplasma
AP AT

Correct Answer: Mycoplasma
ATSPIATHT

Candidate Answer: Euglena

IR

QID : 235 - Which among the following is also called as 'power house of the cell"?

forforRad §  forae! ‘BifRrep a1 wfeRTTe’ +ft el STl &7
Options:

1) Plastids

ofdh

2) Mitochondria

3) Golgi bodies

Moot

4) Cell wall
Pifren T

Correct Answer: Mitochondria

Candidate Answer: Mitochondria

QID : 236 - What is the role of Pneumatophores?

B 1 &1 BT Bl 22
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Options:

1) Protect plant from animals

At T SIERT & ST &

2) Get oxygen for respiration

¥ & forg SiferiteT uRE™ el &
3) Supports plant in standing upright
TS Bl Gien T e H FETI FHRe &

4) Helps plant for pollination
e 5} oRTeTeT  HET e &

Correct Answer: Get oxygen for respiration
TG o foTg iR qRE el &
Candidate Answer: [ NOT ANSWERED ]

QID : 237 - Which among the following determines the pitch of a sound?

fRreferRad & ¥ =it Sava () @1 i iR wvar &2
Options:

1) Amplitude

STIH

2) Frequency

3) Loudness

TRETT
4) Wavelength
e

Correct Answer: Frequency

Candidate Answer: [ NOT ANSWERED ]

QID : 238 - Which phenomena shows the particle nature of light?

I I T [RBII Bl BT [RB D fameh &7
Options:

1) Diffraction

GERE

2) Interference
EINEa

3) Photoelectric effect

BRI R

4) Polarisation

Correct Answer: Photoelectric effect
REE

Candidate Answer: Photoelectric effect

RBRIRET RUE

QID : 239 - Who is called as 'Father of Modern Computer'?

"IN HFYER BT P’ Y el T 82
Options:

1) Alexander Fleming

STIIRIER FeAfHT

2) Bill Gates
[EGRIGA]

3) Micheal Faraday
ATSHe HRIS

4) Charles Babbage
TR R

Correct Answer: Charles Babbage

e

Candidate Answer: Bill Gates

et e

QID : 240 - What is the common name of CaOCl,?

CaOCl, &1 A AT T &2
Options:

1) Baking Powder

AT ISR

2) Baking Soda

AT At

3) Bleaching Powder

AT areeR

4) Washing Soda

& T e

Correct Answer: Bleaching Powder
AT g}

Candidate Answer: Baking Soda
IfHT e
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QID : 241 - What is the common characteristic of the elements of the same group in the periodic table?

Tt RO H T et b g B A e oo Bl 82
Options:

1) Electrons in outer most shell

TTEIH el § gorgexiT

2) Total number of electrons

Pl SoIdexIH! @t AT

3) Total number of protons

ol RIS Pt HE

4) Atomic weight

ORHAT] HR

Correct Answer: Electrons in outer most shell
TR el § goaeRi

Candidate Answer: Atomic weight

TRHATI UR

QID : 242 - Which disease is caused by Nickel?

I T I et & THToT B 82
Options:
1) Itai Itai

EEECE]

2) Dermatitis
RN

3) Learning disability
e & Reerirar

4) Asthma

Gl

Correct Answer: Dermatitis

e

Candidate Answer: Learning disability

NlicREal

QID : 243 - When was 'Pregnancy Aid Scheme' launched to help pregnant women financially with Rs. 6000?

miach afkenst @ 6000 TR 5t <l TErRmT WREM B & oIy TR TR AT de 3R 3 R o
Options:

1) 1 December, 2016

1 iR, 2016

2) 19 December, 2016

19 fe¥eR, 2016

3) 31 December, 2016

31 f3RisR, 2016

4) 1 January, 2017

1 Sa, 2017

Correct Answer: 31 December, 2016
31 f&=iwR, 2016

Candidate Answer: 19 December, 2016
19 fe¥eR, 2016

QID : 244 - Who pioneered diagnostic ultrasound?

AP (SFFIRTE) eSS B @il fhe Bi?
Options:

1) Alexander Fleming

ITRATIER FeAHT

2) Ian Donald

I SHeS

3) A. Laveran

Q. RRA

4) Robert Koch

e A

Correct Answer: Ian Donald
I SHleS

Candidate Answer: A. Laveran
Q. oRRA

QID : 245 - Which of the following pair is CORRECT?
I. Summer Olympics 2020 - Tokyo

I1. Summer Olympics 2016 - Rio de Janeiro

I1I. Summer Olympics 2012 - London

ffoRad & & #iF a1 gW 9E 27

1. T 3ferfRaes 2020 - SRl

11. T 3MerfRaes 2016 - Ry f$ o=RY
111 Tt 3Mefdges 2012 - g
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Options:

1) Only I'and II

et [ e 11

2) Only I and I1I

e 1 qer 111

3) Only IT and III

e 11 72N 111

4) All are correct

SEISEE

Correct Answer: All are correct

it <t &

Candidate Answer: Only I and II
Pae [ qAT 11

QID : 246 - Prime Minister of which country attended the recently organised river festival 'Namami Brahmaputra' in India?

o <1 & IR = BTt & H RS & IR < SRER et Aevea § e foram am?
Options:
1) Bhutan

yer
2) China
Cikl

3) Nepal
e

4) Bangladesh
EIRSIcK)

Correct Answer: Bhutan
Candidate Answer: Bhutan

Y=

QID : 247 - Who among the following has been awarded the 'Rajiv Gandhi Khel Ratna Award' for the year 2016?

frferRad 3 9 ford o 2016 & <Tofig el Vel T REPR' | TR foam T 27
Options:

1) Jitu Rai

S

2) Sania Mirza

fern fort

3) Rohit Sharma

Afe gt

4) Babita Kumari

T AR

Correct Answer: Jitu Rai

S

Candidate Answer: Babita Kumari

T AR
QID : 248 - Who is the author of the book 'Akhada: The Authorized Biography of Mahavir Singh Phogat'?

3T ; R SifeRTgTe RANRIG! ifth HEHR Rig BRI & G Hi 82
Options:

1) Rabi Thapa

< e

2) Saurabh Duggal

S|

3) Salman Rushdie

A FLS

4) Tana French

T RT

Correct Answer: Saurabh Duggal
Candidate Answer: [ NOT ANSWERED ]

QID : 249 - With which Australian University Indian Railways has signed an agreement for Dedicated Freight Corridor?

fra sieforans fivafener & A1 WRg Y1 SEhcs BRISe PIRSR & o Twgitan fban &2
Options:

1) Monash University

Arrer frafiener™

2) Victoria University

3) University of Canberra
PTeRT freafaenera

4) University of Sydney
fre Rreafieme

Correct Answer: Monash University

Candidate Answer: University of Sydney
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QID : 250 - With which neighbouring country of India, Kaladan multi-model transport project has been undertaken?

YR 319 5T USIRfT <27 & N1 BIATE Hocl-Higer AT AT BT Bl RY fobam &2
Options:

1) China

Cinl

2) Nepal
e
3) Bhutan

4) Myanmar
HHR

Correct Answer: Myanmar
AR

Candidate Answer: [ NOT ANSWERED ]

QID : 251 - gest of the three numbers?

T S BRANT EFTCHDb TRTepToies T &b 2T bt ot I <iReanaif 3 aif o A1 < 292 3iferep &, ot il A & o 9t e i <+t 22
Options:
15

2)6
3)7

4)8
Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]

QID : 252 - A can do a piece of work in 6 days working 8 hours a day while B can do the same work in 4 days working 10 hours a day. If the work has to be completed in 5 days, so
how many hours do they need to work together in a day?

A RRIE 8 HE M TR T B B 6 37 # qR1 el 8, Safh B R 10 €T HH T-eh 30 &1 1 4 A # R e & | Al e 1 5 3 § qx1 a6 &1, @ Q1 ot vt 0 fae o
fope € T R ENI?

Options:

1)4

2)
L

(i
3)

6

4

2
1

—

4
4

Correct Answer:

4
5

Candidate Answer: [ NOT ANSWERED ]

QID : 253 -
In the given figure, the length of arc BC of the given
circle is 44 cm. If O is the centre of circle, then what is
the radius (in cm) of the circle?

& m arefa A, By o g3 fr =rq BCHr == 44
A ¥ o Oga & Feg &, A g7 & ==
@A A7) Fm e
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Options:
17

2)14
3)28

4) 35
Correct Answer: 28
Candidate Answer: [ NOT ANSWERED ]

QID : 254 - A shopkeeper allows 25% discount on the marked price of an article and he suffered a loss of 15%. What will be the profit percent if the article is sold at marked price?

Ueh PR Qe A, & et Hed TR 25% o1 e Il & T IV 15% ot @1 8t 2 | af 9=y v @ifeet g oR i, <Y fobemy wRfererat et @ @
Options:
1) 11.76

2)12.12
3)13.33

4) 14.28
Correct Answer: 13.33
Candidate Answer: [ NOT ANSWERED ]

QID : 255 - Three boxes of capacity 24 kg, 36 kg and 84 kg are completely filled with three varieties of wheat A, B and C respectively. All the three boxes were emptied and the three
types of wheat were thorou

M e RrTast emwiem 24 fo5.TRT., 36 fo5.TRI. Ton 84 fh.TRI. &, Y <fiF oRE @it I p=Aen: A, B @2 C A TR E | i1 e et = A ot & e i (RepR & I ot 3 @ e o
e, fAreRoT ot iR | <A1 el 7 =1 S 8 | e e 7 A arelt 9 6 A (Fp . #) forett 8rfte

Options:

1) 10

2) 12

3) 14

4)16

Correct Answer: 14

Candidate Answer: [ NOT ANSWERED ]

QID : 256 - A group of boys has an average wei
35.7 kg, then how many boys are there in the group?

TSP b b W T NI MR 36 f6.TRI. B | Tob oA ONIehT R 42 5. 7R1. & I8 A & Tl STl € TN Uoh 31 gl fTTenT W 30 o6, TR7. &, W & enfirer &) o @ | 9l g o1 o
YR 319 35.7 fop. 7R, 8, T g & fobew oreh &2

Options:

1) 30

2) 32

3) 40

4) 56
Correct Answer: 40
Candidate Answer: [ NOT ANSWERED ]

QID : 257 - A man gains 1

T BheigeieR bl U TR St OR Som OR Udb Sl T 15% T T 81T & | AfS I8 S hotgpeie bl i T[T BIAd TR 9, Al o4 URIcrerd arm 8rme
Options:

1) 125

2) 175

3) 225

4) 245

Correct Answer: 245
Candidate Answer: 245

QID : 258 - In an election between two cand
loosing candidate?

) Il & dH T W e H, o SRiiear @1 gt Al 1 70% TR §3T TN T8 15400 el 3 STl | BIRA aTel SWHIGaR 1 fobert 7T firer?
Options:
1) 38500
2) 11550
3) 26950

4) 13550
Correct Answer: 11550
Candidate Answer: 11550
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QID : 259 - A boat goes 4 km upstream and 4 km downstream in 1 hour. The same boat goes 5 km downstream and 3 km upstream in 55 minutes. What is the speed (in km/hr) of
boat in still water?

Ues A1 1§ # 4 5.1, oR1 & Riviget o 4 5. oRT & oTige SIkH & | I 19 55 e A 5 5., oR1 % orget aen 3 R oRT & Riige S 8 | ReR ot # @ @t R (fp. AR /eer
) ®E?

Options:

1)65

2)7.75

3)9

4)105

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID : 260 - Simple Interest rec

T AT 7 10 6T & 9500 T P HALH TR TeTelH Bl 130% HILIRT TS URIT b1 § | ST &t aTfiiep &R (% H) 1 82
Options:

1)12

2)13

3) 15

4)19

Correct Answer: 13

Candidate Answer: 13

QID : 261 - For what value of k, the expression x6 — 18x3 + k will be a perfect square?

k % b AT o forg aiotes x6 — 18x3 + k Ueb ot vt @rre
Options:
1)-9

2)-81
3)+9

4)+81
Correct Answer: + 81
Candidate Answer: [ NOT ANSWERED ]

QID : 262 -
If NS XS -X 3, then what is the value of x?
B+ x —~b-x

ot B+ x+B-X _
5+ x-~/5-x

3 & df x & AT T E?

Options:
1) 5/2

2) 25/3

3)4

43

Correct Answer: 3

Candidate Answer: 5/2

QID : 263 - If (x +y + z) = 12, Xy + yz + zx = 44 and xyz = 48, then what is the value of x3 + y3 +7%?

AR (x+y+z)= 12, xy + yz + zx = 44 AT X Z=48?,Eﬁx3+ 3 4 23 1 A T &7
y M \ y

Options:

1) 104

2) 144

3) 196

4) 288
Correct Answer: 288
Candidate Answer: [ NOT ANSWERED ]
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QID : 264 -
If x=4—V{a_b,then what is the value of
T+
x+2J§+x+2\fB (when a =b)?
x—2Ja_ x—2JB
dJab x+2Ja x+2Jb
Ofg x=———¢@, ar +
B ™ e il
T AT FAT & (IT a=b T)?
Options:
10
2)2
3)4

4) (Va + vb)/(Va—Vb)
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 265 - In a triangle PQR, £Q =90°. If PQ = 12 cm and QR = 5 cm, then what is the radius (in cm) of the circumcircle of the triangle?

T RRYST PQR #, £Q =90° & | AR PQ = 12 A J2M QR = 5 J.4. &, A Rt & uRgw @it fogsan (3.4 §) s &2
Options:
15

2)6
3)6.5

4) 6v2
Correct Answer: 6.5
Candidate Answer: 6.5

QID : 266 - If a chord of a circle subtends an angle of 30°

I gep g1 Y Sitar St IR IR 30° T HIoT SR 2, o eAen: g @t RS e Sitar a5t ovaTs T SiuTd T 82
Options:

Di1:1

2)2:1

3)3:1

HV2:1

Correct Answer: 1: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 267 - The tangents drawn at points A and B of a circle with centre O, meet at P. If ZAOB = 120° and AP = 6 cm, then what is the area of triangle (in cmz) APB?

R O aTet geT TR Rerct fifg A T2 B & vt Y@ @i+ 7€ 2, < fig P R et € | af ZAOB = 120° T2 AP = 6 ¥, &, O RS APB &1 &Rt (I1.41.2 ) 7 22
Options:
1) 6v3

2) 8v3
3)9

4)9v3
Correct Answer: 9V3
Candidate Answer: [ NOT ANSWERED ]

QID : 268 - P is a point outside the circle at distance
cm, then what is the radius (in cm) of the circle?

g,qﬁaswqmﬁg%ﬁmﬁiﬁwzﬁﬁéﬁgoﬁe.s%ﬁ%| PR, U BEe 8 S g7 1 Q T R TR [RRIEE _ell 2 | A PQ = 4.5 A, T2 QR = 3.5 3.4, &, It g o fRgoan ([
oo

115

2)2

3)25

43

Correct Answer: 2.5
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Candidate Answer: [ NOT ANSWERED ]
QID : 269 - What is the value of [1/(1 — tan 0)] — [1/(1 + tan 8)]?
[1/(1 —tan 8)] - [1/(1 + tan )] <1 A 1 &2
Options:
1)tan 6
2) cot 26

3) tan 20

4) cot 8
Correct Answer: tan 26
Candidate Answer: cot 6

QID : 270 - If tan 6 + cot 6 = x, then what is the value of tan? 6 + cot* 6?

I tan 0 + cot 6 = x &, & tan* 0 + cot* O T A T &?
Options:
DE3-3)2+2

2)(x*-2x)+4
3)x(x—4)+2

4) )(2();2 —4)+2
Correct Answer: )(2()<2 —4)+2
Candidate Answer: [ NOT ANSWERED ]

QID : 271 - If tan? 8 + cot? § = 2, then what is the value of 25¢¢ ® cosec 83

If2 tan? 0 + cot® B = 2 &, dr 25ec © cosec O 57 oy ayy Byer?
Options:

10

2)1

3)2

4)4
Correct Answer: 4

Candidate Answer: 4

QID : 272 -

Staff Selection Commision

The table given below represents the amount of
education loan (in crores) disbursed by 5 banks of a

country over5 years.

#rer & g arferer A e r & 5 fepr Ery 5 gt #
frem & o fafa T o =oT (FUET &) & g

T ¥

Amount of education loan disbursed (in crores)
Year frem & fow faRa 3o & ufyr (=t )
a4 | Bank 1 Bank2 | Bank3 | Bank4 | Bank 5
¥ 1 CCip) d53 d64 d55
2010 265 65 138 109 80
2011 295 118 165 123 103
2012 317 85 195 125 140
2013 323 103 178 142 143
2014 362 122 211 157 158

What is the percentage increase in education loan disbursed by Bank 2 from 2010 to 2014?

2010 ¥ 2014 T de 2 & FRT R1en & forg e o o e e St afg g 22
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Options:
1) 85.42

2) 87.69
3)89.21

4) 83.18
Correct Answer: 87.69
Candidate Answer: [ NOT ANSWERED ]

QID : 273 -
The table given below represents the amount of
education loan (in crores) disbursed by 5 banks of a
country over5 years.

@ & or$ e # U Iy & 5 FB EnT 5 awt A
e & for fefg v ar mor (@0 &) @ e
arar &

Amount of education loan disbursed (in crores)

Year foem & fav faaRa =or & ufd (HA=T )

GL Bank 1 Bank 2 | Bank 3 | Bank 4 Bank 5
da1 g2 d03 da4 da5
2010 265 65 138 109 80
2011 205 118 165 123 103
2012 317 85 195 125 140
2013 323 103 178 142 143
2014 352 122 211 157 158

Which banks show a continuous trend of increase/decrease in loan amount disbursed over 5 years?

Tt Fopt o faaRar =xeor it IR A 5 auf & FAReR afg orer it g 22
Options:

1) Bank 1 and Bank 4

§ 1 T2 9 4

2) Bank 1, Bank 4 and Bank 3

§ 1, § 4 Ton § 3

3) Bank 1, Bank 4 and Bank 5

§ 1, ¥ 4 o §6 5

4) Bank 4 and Bank 5

§b 4 F ¥ 5

Correct Answer: Bank 1, Bank 4 and Bank 5
§% 1, 9 4 T2 9 5

Candidate Answer: Bank 1, Bank 4 and Bank 5
§ 1, § 4 2 §6 5
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QID : 274 -

Staff Selection Commision

The table given below represents the amount of
education loan (in crores) disbursed by 5 banks of a
country over5 years.

& & oS arforeRr & ues 2er &F 5 e gry 5 anf A
forem & T fafE @ o =oT (U=t &) & g

araT ¥
Amount of education loan disbursed (in crores)
Year far & foaw @aRa wor & iy (St )
GL] Bank 1 Bank 2 | Bank3 | Bank4 | Bank 5
d6 1 d52 d53 d54 d55
2010 265 65 138 109 80
2011 295 118 165 123 103
2012 37 85 195 125 140
2013 323 103 178 142 143
2014 352 122 211 157 158

‘What can be said about the two following ratios?

1. Loan amount disbursed by Bank 1 in 2011/ Loan amount disbursed by Bank 2 in 2014
II. Loan amount disbursed by Bank 3 in 2014/ Loan amount disbursed by Bank 4 in 2011

frfomRad < SruTel % AR A T el S Febell €7

1. 2011 & ¥ 1 g1 AR o/ 2014 & §F 2 gRT ARG =01
11. 2014 ¥ §ep 3 gRT AR o1/ 2011 & §op 4 gRT RAaRa =01

Options:
DHI>I1
2)I<II
3)I=1I

4) No relation

P Wy T &

Correct Answer: [ > 11

Candidate Answer: [ > II

QID : 275 -

The table given below represents the amount of
education loan (in crores) disbursed by 5 banks of a
country over5 years.

= & 9 ST # U g & 5 ¥ Enr 5 awt A
forem & T RefE @ o =oT (U=t &) & g

araT ¥
Amount of education loan disbursed (in crores)
Year en & fav TalRa #or & iy (ST )
a¥ | Bank 1 Bank 2 | Bank 3 | Bank4 | Bank 5
d5 1 da2 d53 d54 d55
2010 265 65 138 109 80
2011 295 118 165 123 103
2012 37 85 195 125 140
2013 323 103 178 142 143
2014 352 122 211 157 158
w

2010 9 2014 e Y 7T b1 B gRT foby ¢ RAaRe vt @t ifdn & qRRYeI gy 1 pie T FrfeiRad e et &2
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